ZB Alg|= &7
ZB SERIES GEAR BOX

M THHXT Sectional Drawing

N
(s3]
S~
N
m
w
o®

=
(13

(72}

@ &3 AFZE Ouiput shaft

@ 24 Oil seal

® &3 AIZE 2 #1012 Output shaft front bearing
@ 4 7101 Planetary gear

® EHY 7101 Solar wheel

® & LIE Hl0{2 Fullneedle bearing

@ 2 ZIH Front cover

Z3 AF=ZE Sl HI012 Output shaft rear bearing
© 2224 oil seal

© HEE Coupling

@ &3 Lock ring

@ A HIH Rear cover

W AEl= g, 22 EA| Y Type And Model Number

ZB #%7| ZB Reducers \ ME 2E{ Servo Motor

090 zB 20 () (8) - 750 T [
o @ @ ® 6 ® O ®©

© &= =2 Ato]=: 090 Gear head frame size: 090
@ AMgl=3E:7B Gear head series code: ZB
B3 ZH&H|: 1220 Gear Ratio: Single Stage 20
@ JFLx Amount of backlash
BEENY P2, X{EYUE P1, nEUEI PO Standard type P2 precision P1 high precision PO
8 A= E B35120| 5|2 SHET| +5%Y o] £X| precision (the load of output shaft is +5% of allowable output torque)
® YU AF=ZE EIQl Input shaft type
S: ®MA A=) S: Over locking(Omission)
(7] £0| = 2E{Q} = DE{o| 25 M55, ‘D At He M) (regardless whether the motor with keyway can use it. But ‘D’ Cut can't use)
S1: &2a w2z S1: Locking with locking ring
(71 0] = TE{Q} o= BE{ol| 2F M35, ‘D' & HE HMel) (regardless whether the motor with keyway can use it. But ‘D' Cut can't use)
$2:7| 2 &3 S2: Locking with keyway
(7] £0| 9= 2E| 9} = BE{o| 25 M55, ‘D' xt He M) (regardless whether the motor with keyway can use it. But ‘D’ Cut can't use)
K: 7| 0| A4S K: Locking with locking ring
A: 7|E} EFRI(2Ae} AFEH HEELICE) A: Other type(please contact with us)
® HEE|= ME 2E{2 22k (W) Applicable servo motor power (W)
@ ME 2E| ®HIZ=AH2 (P.99-100) Manufacturer name of servo motor (P.99-100)

ME ZE 29 Model of servo motor




HE 14
PRODUCT SPECIFICATIONS

B Z57]| M5 H0lE|  Reducer Perfomance Data

N A ES a=tl 060ZB | 060(A)ZB | 090ZB | 090(A)ZB | 1152B 14278 180ZB 2078
w Specifications Node Number Reduction Ratio
= 3 55 - 130 - 208 U2 588 1140
B 4 50 - 140 - 290 542 1050 1700
o 5 60 - 160 - 330 650 1200 2000
o . 6 55 - 150 - 310 600 1100 1900
o 7 50 - 140 - 300 550 1100 1800
n 8 45 - 120 - 260 500 1000 1600
9 4 - 100 - 20 450 900 1500
10 4 - 100 - 230 450 900 1500
15 B 55 130 130 208 32 568 1140
20 - 50 140 140 290 542 1050 1700
£ A4 EA Ta Nm 2% - 60 160 160 330 650 1200 2000
30 - 55 150 150 310 600 1100 1900
3% - 50 140 140 300 550 1100 1800
40 - 45 120 120 260 500 1000 1600
2 4% - 4 100 100 20 450 900 1500
50 - 60 160 160 330 650 1200 2000
60 - 55 150 150 310 600 1100 1900
70 - 50 140 140 300 550 1100 1800
80 - 45 120 120 260 500 1000 1600
90 - 40 100 100 230 450 900 1500
100 - 40 100 100 230 450 900 1500
SHX EA Toor Nm 1,2 3~100 &8 7 E32| 30
FEREEEN rpm 1,2 3~100 5000 5000 4000 4000 4000 3000 3000 2000
EEEE rpm 1,2 3~100 10000 10000 8000 8000 8000 6000 6000 4000
S : 1 310 - - - - <1 =<1 =<1 =<1
=™ Hajy PO arcmin : e - - - - = - - -
. 1 3~10 <3 - <3 - <3 <3 <3 <3
L2 P aremin 2 15~100 - <5 <5 <5 <5 <5 <5 <5
2 HEAUA] . 1 3~10 <5 = <5 = <5 <5 <5 <5
=iz Bl 1 aremin 2 15~100 = <7 <7 <7 <7 <7 <7 <7
HIEYZA Nm/arcmin 1,2 3~100 7 7 14 14 % 50 145 225
&2 oy F,. N 1,2 3~100 1530 1530 3250 3250 6700 9400 14500 50000
52wk, N 1,2 3~100 765 765 1625 1625 3350 4700 7250 25000
AZ g hr 1,2 3~100 20000*
a2 o 1 3~10 297%
2 15~100 >94%
s kg 1 3~10 18 [ - [ 31 [ - ] 18 | 45 | ¥ | 4
2 15~100 15 | 19 | 41 | 53 | 9 | w5 | 8 | 60
A2 25 c 1,2 3~100 -10c~ +90°C
8 1,2 3~100 £ 28]
USEF 1,2 3~100 1p65
M| 1,2 3~100 Qlojo] upst
— 22X 1m 72|
Pds (n:IS[]IOOrpm?,.I%’—sI}Ei%) dBm 12 5100 <58 ‘ <60 ‘ <60 ‘ <63 ‘ <63 ‘ <65 ‘ <67 ‘ <10
B 47| M BHE  Moment Of Inertia Of The Reducer
A Lel= 52 Z&H|
Specifications Node Number Reduction Ratio 06020 2 09020 L2 11520 14220 18020 22020
3 0.16 - 0.61 5 3.95 9.21 28.98 69.61
4 0.14 - 0.48 - 2.74 754 2.67 54.37
5 0.13 - 0.47 - 2.71 7.42 2.29 53.27
6 0.13 - 0.45 - 2.65 7.25 2.75 51.72
! 7 0.13 - 0.45 - 262 7.14 .48 50.97
8 0.13 - 0.44 - 2.58 7.07 259 50.84
9 0.13 - 0.4 - 2.57 7.04 253 50,63
10 0.13 - 0.44 - 2.57 7.08 2251 50.56
15 - 0.13 0.13 0.47 0.47 271 7.42 2.29
20 - 0.13 0.13 047 0.47 2.71 7.42 2.29
31H 2y kg-cm® 2% - 0.13 0.13 0.47 0.47 2.71 7.42 2.2
30 - 0.13 0.13 047 0.47 2.71 7.42 2.29
3% - 0.13 0.13 0.47 0.47 2.71 7.42 2.2
4 - 0.13 0.13 047 047 271 7.42 2.29
2 45 - 0.13 0.13 047 0.47 2.71 7.42 2.2
50 - 0.13 0.13 0.44 0.4 2.57 7.03 251
60 - 0.13 0.13 0.44 0.4 2.57 7.03 2,51
70 - 0.13 0.13 0.44 0.4 257 7.03 251
80 - 0.13 0.13 0.44 0.4 257 7.03 2251
90 - 0.13 0.13 0.44 0.4 257 7.03 251
100 - 0.13 0.13 0.4 0.4 2.57 7.03 22,51
1. ZHI(i=Nin/Nout) 2 Z|th 715 E3 Ty = 60% of Tavor 3. &3 AIZE Aojol| F5t el EHE X 100rpm 0|5}

A% 2HAL ALE £~8 10000hrs



ALO|=(d =, #4H| i=3~10)

DIMENSIONS(SINGLE SEGMENT, REDUCTION RATIO i=3~10)

B Ao|= =™ Dimensional Drawing

&3 Output co 243 Input
c8 L8 L2
L7 L3
®Do6 -
s - 4
L5 L6 B
S8 FT )
il B 2
e & ©
oD1 co e
g‘ ‘ D5(Z0])L9
1] X
!
H1
B AlO|= E Dimensional Table [l mm]
MO|= Size 060zb 090zb 115zb 142zb 180zb 220zb
Di 70 100 130 165 215 250
D2 55 6.6 9 11 13 17
D3+s 16 22 32 40 55 7
D4 5 50 80 110 130 160 180
D5 M5x0.8P M8x1.25P M12x1.75P M16x 2P M20x2.5P M20%2.5P
D6 80 116 152 185 240 292
L1 60 90 115 142 180 220
L2 37 48 65 97 105 138
L3 7 10 12 15 20 30
L4 28 36 51 79 82 105
L5 25 32 40 70 70 90
L6 2 3 5 4 6 7
L7 6 8 10 15 20 25
L8 65.5 78 101.5 119.5 154 163.5
L9 12,5 19 28 36 42 42
C1 70 100 130 165 215 235
c2 M5x0.8P M6x 1P M8x1.25P M10x1.5P M12x1.75P M12x1.75P
C3 *<14/<16 <19/<24 <32 <38 <48 <55
C4 35 40.5 51 60 85 116
Che6 50 80 110 130 180 200
C6 8 4 5 6 6 6
c7 60 %0 115 142 190 220
C8 19.5 17.5 20 225 29 63
C9 122 143,5 186.5 239 288 364.5
Bl ho 5 6 10 12 16 20
H1 18 24.5 35 43 59 79.5

*060ZB 5,10 Z&H| C3<16 M= J}sE

N
(s3]
S~
N
m
w
o®

=
(13

(72}

P47



N
@
S~
N
m
w
o

=
(1]

(7}

P48

AHOI=(H =, #4H| i=15~100)

DIMENSIONS(DOUBLE SEGMENT, REDUCTION RATIO i=15~100)

B AtO|= =™ Dimensional Drawing

Z9 Output 8 18 L2 23 Input
gu 7. L3
PD6
a5 4 ocrz
— i L5 _|_L6 —— \%
e 2% \QQ
iSiRs] © ®
] i . : g
C—6>:«C4 H 2 oC1
PD1
© 060AZB/090AZB
c8 L8 L2
L7 L3 acr
(o)} "~
= DS(ZOILI I 15 _i6 ( © a\- B
oy
*I + g%ﬁf iéfm @
O £3
| H ' ‘@
co o ' o) oci
B ALO|= & Dimensional Table [=2l: mm]
Size 060AZB 090ZB 090AZB 115ZB 14278 180ZB 22028
D1 70 100 130 165 215 250
D2 55 6.6 9 11 13 17
D31 16 2 32 40 55 75
D4 o 50 80 10 130 160 180
D5 M5x0.8P M8x 1.25P M12x1.75P Mi6x2P M20x2.5P M20x2.5P
D6 80 116 152 185 240 292
L1 60 90 115 142 180 220
L2 37 48 65 97 105 138
L3 7 10 12 15 20 30
L4 28 36 51 79 82 105
L5 25 32 40 70 70 90
L6 2 3 5 4 6 7
L7 6 8 10 15 20 2%
L8 102.5 116 126 143 169.5 207.5 246
L9 125 19 28 36 42 42
ci 70 70 100 100 130 165 215
c2 M5x0.8P M5x0.8P M6x 1P M6x 1P M8x 1.25P M10x1.5P M12x1.75P
c3 <14/<16 <14/<15.875/<16] <19/<24 <19/<24 <3 <38 <48
C4 35 35 405 40 50 60 85
Ches 50 50 80 80 10 130 180
C6 8 8 4 4 5 6 6
cr 60 60 90 90 115 142 190
c8 19.5 19.5 175 17.5 125 25 29
c9 159 1835 1915 2055 283.5 335 409
Bl 5 6 10 12 16 20
H1 18 %45 35 43 59 79.5




